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Ajmal National Talent Search Examination, 2009
Class : IX
Time/?T<¥ : 2 hours (F51) Full Marks/ 38 77992 (25+25+25+25)=100

INSTRUCTIONS / fRrwsaen ¢

1. Attempt All Questions. / ATSIFH! 24 TEIF4 |
2. There are four options to every question. Choose the correct option by putting any one of a, b, ¢ or d,

in the box / &fStst ehie <! g Tee o =it | w7 Tes! AR TEER FFe 29 qFve a, b, ¢ A d &4t

General Knowledge / €99 T«
1.  The easiest and user friendly computer language is / FeTox % A SATIIT F[THIF ©IFI 21—
a) Machine level language / GIfbel (FTCes1 O b)  Highlevel language / 212 (FTCesT ORIl I:l
c) Assemblylanguage / GGFeT Ol d)  Lowlevel language / sTtsTces oAt
2. Thethree components of a colour TV picture are: / 361 fofeq 2 & & 96 1fSiel 965 2
a) Red, white and blue / J&!, 39l SIIF T el b)  Red, yellow & blue / 3!, 2HT I S el
¢) Red, green & blue / 38!, TS = S Tietl d)  Black, white & colour / Fi, 351 S q@ 14 I:l

3. Inwhich year were the Indian states recognised on the linguistic basis? / X fofe® SFe X TR F beve 77

ool 91 (2ot 2

a) 1947 b) 1956 ¢ 1950 d) 1966 []
4, “Vikram Sarabhai Space Centre’ is located at / ‘R~ 5IRI®IZ (/% (5D ' SRIZS ?

a) Bangalore /SN b)  Hyderabad/ zrwamam []

¢) Thiruvanathapuram / {37 d)  Chennai/ (a2

5. The school where in Guwahati young students talked live to (Assam’s son-in-law) astronaut Edward Michael Fincke,
stationed at International space station, is / S [&F TP (FoeTo 2 TRFHBIF TG B (< 5191 (Aol
ST (T T »G-RG 1 2 A1 2
a) DonBosco School, Panbazar, Guwahati / SRR g, A<, @1Z(6! I:l
b) Axam Jatiya Vidyalaya, Guwahati / ST S 1g Kvpiers, eaizibt
¢) SouthPoint School, Barsapara, Guwahati / 5182 #{3% %1, Iisidl, @ai2i5!

d) Srimanta Sankar Academy, Guwahati / SIS *\<3 GG, SAZG!

6.  TheFive Year Plan of Development originated in / (Fie (7S SN #{2eife ifamaiia Joe1 (2feet 2

a) Russia /3= b) China/5H ¢) India/ome d) Cuba/fFEa []
7. Mach3, the first triple-blade cartridge razor, was introduced by: / Mach3 fsf6! @ g% wifb 4&RI @@= (@i @I

ERIONECRISEEIPE

a)  Wilkinson / & b)  Gillete /o=l []

¢) Bismark /&% d)  Valet/ et

1]
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10.

1.

12.

13.

14.

15.

16.

17.

o

If you are dialling the number 98640-98640, you are using the network of / I il sb-u8 0-5b-b8 0 TIFE TR (ST Sl
T @OTF IR R ?

a) BSNL /R 9z b)  Reliance / Rz []
c) Airtel / @R d)  Vodafone / (SleIcFN

Radio broadcasting in India started between Bombay and Kolkata in / T 5o 2203 (@0 S Feiroi S[Ere So
51T SIS (2feeT ?

a) 1917/535a59% b) 1925/553¢5®  ¢)  1927/3»3a5T®  d) 1932/ 55035 []

The largest employer in India is: / Se] (T 539! RSl RO SIfHE FHE SR 2

a) Indian Telecommunication Service / SIS FaCM Gl |:|
b) Indian Railways / ©FoR (& Keiof
c) Textile Industry / 7= a1 d)  None of these / 4bl87=x

Ten Fundamental Duties were incorporated in part IV of our constitution through / 3= st 7 7<% 5109 o B
GTITETE o<y STYE 1 (202 ?

a) The 42nd Amendment / 8 O FCHiT b)  The 44th Amendment / 88 O3 S SIS |:|
¢) The 53rd Amendment / @ O3 STl d)  The 58th Amendment / &b O FRC*E CO

What is the full form of FBI? / ‘FBI 31sjf ief 5 2

a) Football Board of India / 5351 (A6 o< 3fes3l |:|
b) Federal Bureau of Investigation / (FOI(e1 0 < 20 R

c) Fixed Bank Interest / fRFG (@8 2BI%

d) Female Boating Club of India / frcste1 252 10 o< 2z

Van Mahotsav, a week long festival of tree planting, and awareness program organized every year across India falls in
the month of / 9Z-91el (IR S eI e A ABZCEN I AR (I TS SACANGr | 23 2

a) June /o b) July /TR ©)  August/ 3 d) September/ iaw [ ]
The first hour of every sitting of the Lok Sabha is called: / (5% T 2i(o5 K@= 212¥ 951 <5 o1 (R 2T 2

a) Question Hour / 2CAes 6T b)  Special Hour / Re*R & I:l
c) Zero Hour / ¥ /e d)  None of these / «bre vz

Ifthe first two digits of the Postal Index Number (PIN) code of Assam is 78, then the digits 79 is for / f(FIG T7a7 @2
U0l AT b SPTE, (TR A (e FISTS AN

a) Orissa /S b)  West Bengal / #if*5x1 <% |:|
¢) Bihar/R=" d)  Other North-Eastern States / =i #Jafea 3%y

o~

The first to introduce competitive examinations in the world are: / (It 7R AfScaifare! Jor=s #I9H w19E F&few 2
a) TheBritish/3%g b)  The Greek/ &< ¢)  The Chinese/5SW@e d) The Romans/ QIS |:|

The number of berths in a second class sleeper coach is: / «fb Ft«Fe (@R TS (XTF TS RFEXT! *I1 S ACF 2
a) 64/ u8H b) 72/a3%l ©)  99/5F d) 102/ 50375l []

2]
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18.

19.

20.

21.

22

23.

24.

25.

The term ‘India’ is derived from: / Zfes1 56 &9 #[[1 Besife (22 ?

a) Sanskrit/>ge  b)  Urdu /& ¢)  German/ s d)  English/ %S |:|
Who is the present President of Asom Sahitya Sabha? / TSI« P! HIfZe) TeIF TS (Fie 2

a) Kanak Sen Deka / S (T b)  Lakhinandan Bora / &= 3dl I:l
¢) Rangbong Terang / 3R (AR d)  Jamini Phukan / QifSiq} g

The father of Indian Renaissance is / SIS ({1 (G916 ) Gl (0T 2

a) Jawaharlal Nehru / SRIZF #1161 (2% b)  RajaRam Mohan Roy / Ji&i ISR 99 |:|
¢) Swami Vivekananda / SIS Raiw d)  Bal Gangadhar Tilak /3l 915 foeiss

What was the real name of the famous singer Kishore Kumar ? / R5® 21121 Re=i1= o< 2 a1 <6 iR 2

a) Kishore Kumar Ganguly / Feieg=@aiB@tl  b)  Abhas Kumar Ganguly / SireR 3 a1 |:|
¢) Vijoy Kumar Ganguly / &&= 1 aiizget d)  None of these / «bre vz

In a dictionary form which word would come third? / SIS @< SIS @1 (FINCH! *17 PO I3 ZieTe wif2d 2

a) Infant/E®5  b) Infantry /EG=GR c)  Infantile /30 d)  Infact /E%3 []
‘Nathu La’ pass in the Himalaya is in / 2351 |igeN 7w’ ' Sk%e ?

a) Jammu & Kashmir / sg-mfia b)  Sikkim /R []
c) Himachal Pradesh / f&si5s1 e d)  Arunachal Pradesh / S/iibaT 2o«

The use of HY'VS (High Yielding Variety Seeds) is associated with / ‘HYVS’ (37e Sired %) {2 #191@ Sife 2
a) White Revolution /971 (241Z5) Rz b)  RedRevolution /¢l Rz []
c) GreenRevolution / T8 [z d)  None of these / 4bl8 7 zx

Which of the following operations did not take place in Assam? / S (FCH! ST (T SIS ) SPTIe ALEHS -1
ifest 2

a) Operation Blue Print / Ssiitas Ff4 b)  Operation Kranti / Si#iicaxe FifS |:|
c) Operation Bajrang / S &% d)  Operation Blue Star / o= g Bi<

General English / A4i<¢ 353i&

Only one option out of the four given, i,e [(a),(b),(c)and (d) ] applies correctly to the blank space. Put the correct
option in the box on the right hand side.

26.

27.

28.

She smiled my words.

a) on b) over Cc)  upon d at |:|
Iam glad the movie.

a) tohave seen b) tosee c)  forseeing d) atseen I:l

the rain stopped , the play had to be suspended.
a) Since b)  When 0 As d)  Untl []
3]
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29. Wecan to travel by air, but we train journey.
a) decide, undertook b) plan, enjoy c)  afford, prefer d) aspire, commute I:l
30. She was because all her plans had gone
a) frustrated, magnificently b) elated, wild |:|
c) distraught, awry d)  dejected, splendidly.
31. Research has the illusion that childhood dreams are pure innocence.
a) Dispelled b)  Established c)  Discovered d)  Accepted.

32.  One who does not care for literature or art is called
a) llliterate b) Barbarian c) Cynic d)  Philistine

33. The French word apropos means

a) Properly b)  Withreferenceto  ¢)  Onthe contrary d) Inadditionto.

34.  Fruit eating animals are called

a) Gregarious b)  Graminivorous c)  Frugivorous d)  Fructivorous.

35.  One who easily gives up his party or principles is called

a) Tmant b)  Defectionist ¢)  Turncoat d)  Bohemian

36. The word correctly spelled among the following is:

O O o o o O

a) Committment b)  Comitment c¢)  Commitment d) Comittment

The following sentences are divided in to three parts and each part is underlined and marked a,b,c. Only one part
contains an error. Identify the error part. If there is no error, mark it (d)..

37. There are six hundred seventy students in our school. No error. I:l
(a (b) (© (d)
38.  Most children remain at school at the age of'six and seventeen. No error. |:|
(a (b) (© (d)
39. I never have and will never disobey my elders. No error. I:l
(a (b) (© (d)

In each of the following questions, an incomplete statement followed by some fillers are given. Pick out the best one
which can complete the sentence correctly and meaningfully.

40. The more we looked at the piece of modern art, .
a) Weliked it less b) Thelesswelikedit. c¢)  Itlooked better d) Better weliked it. |:|

4]
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41.

Anil, where are you ? , up this tree.
a) Therelam b) ThereamI c¢) Herelam d) Hereaml |:|

In the following questions the beginning of the sentence is given and the remaining part of the sentence is broken in to
four parts represented by P,Q,R and S. Choose the correct option in which the sentence is reconstructed by properly
arranging the parts in sequential order so as to form a meaningful sentence.

42.

43.

Without books .
P- No cultured society is possible
Q- No fresh ideas are possible
R-And

S- Without fresh ideas

a) RSPQ b) RSQP ¢) PRSQ d) QRSP []

Seventy-two people
P-Reports PTI

Q- Were affected by food poisoning,

R- Including several women and children
S- Of'the Jalukbari area of Guwahati.

a) SQRP b) RSQP ¢) RSPQ d) SRQP []

In the following questions some sentences are given which are on the same theme. Decide which sentence is the most
preferable with respect to grammar, meaning and usage, suitable for formal writing in English.

44.

45.

a) Witha frown on his face, the teacher asked the student to leave the room. |:|
b) Theteacher asked the student to leave the room with a frown on his face.
c) Theteacher asked the student with a frown on his face, to leave the room.
d) The teacher asked with a frown on his face the student to leave the room.

a) Nobody will treat people kindly if he does not want to play in his team. |:|
b) Nobody will want to treat people if he does not play in his team kindly.

c) No body will want to play in his team if he does not treat people kindly.

d) Ifhedoesnot treat people kindly, nobody will play to want his team.

In the following sentences you are required to find synonyms for the italicized word in the sentence. Choose the
option which best expresses the meaning in the context.

46.

47.

Most of'the staff is restive under the new manager’s rule.
a) Uneasy b)  Obstinate c)  Relaxed d)  Friendly. |:|

The mountain air coming from the north has proved salubrious for the people settled here.
a) Pleasant b)  Soothing c) Toxic d)  Wholesome. |:|

151
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In the following sentences you are required to find antonyms for the italicized word in the sentence. Choose the
option which best expresses the opposite meaning.

48.

49.

A cheap display of wealth was being done through gaudy dresses.
a) Extravagant b)  Cheap c)  Sober d)  Ornate. I:l

All employers look for docile servants.
a) Dutiful b) Insincere c¢)  Unmanageable d) Haughty I:l

Choose the option that gives the correct sense of the idioms / phrases (Italics underlined) in the following sentences

50.

51

52.

53.

54.

55.

She tried to help the drowning man but she was completely at sea.

a) indeep seawater b) sailingaboat c)  occupied d)  confused. |:|

General Mathematic / J«<e sfo

(5)* (8)'* (25)"* = (10)’
a) 24 b) 48 c) 60 d) None of these (4bi€ Fl?iﬂ)lj

1 1 1 1 1 1

The value of[a8 +a 8][(18 —a 8].[414 +a *
1 _ 1 1 1 L 1 1

[as +a ][as —a 8].[414 +a 4][(12 +a Z]EW—

1 1 1 1
a) a+— by a-— 0 a-— d a+— []

a a a a

o0 | —

If x is 20% less than y, by how much percent y is more than x? (x T y ©tF 20% F 21 (T y, X O [ #[oiH @z ?)
a)  25% b)  50% 0 20% d)  80% []

The time taken by train 110 m long, runing at a speed of 36 km per hour to cross a bridge 132 min length, is— (110 &z
Ve (9G] @4 5w 36 fhefile (@ualca oife FfRee1, 132 Tl Tiwel o1k @2 #(19 260 70 #ifa-)

a) 15 sec. ((bCFe) b) 18sec. ((bCF9) c) 212sec.(®e) d) 24.2sec. ((bF9) |:|

If a parallelogram with area P, a rectangle with area R and triangle with area 7"are all constructed on the same base and
all have the same altitude, then a false statement is— (45 7 ¥ @7iT 1< 1 S G Tarfs RS GBI AT Fife
P, @b S et R ©ii<s faeea el 7 270, $PTe) Sfe ol 2°3-)

1
ay P=2T b T=_R ¢ P=R d) P+T=2R []

(6]



56.

57,

58.

54,

60.

61.

62.

Inatriangle ABC, AB=AC , £A =40°, point O is within the triangle with ~OB(C = ~(OCA. The number of degrees

in /BOCis— (ABC, faged AB=AC, ZA=40° 9% O T0RewE 79 1% L OBC = Z0CA 2,508 £ BOC 3
T A T

a) 110 b) 35 ¢ 140 d) 70 ]
If m= , then & equals—
o
m(a+b) m+ca ma cab—ma
ca b) ma C) m-t+ca d) —m D

If (x— 2) is a factor of x* + ax+b and a+ b = 1 then the value of @ and b are— ((x—2)%ft x” + ax+b T 45 T
TFa+b=1 (ST a A< b T3 &)

2 (6,9 b)  (5,6) ) (-6,5) 9 (56 [

In the figure 4B = AC , angle BAD = 30° and AE = AD . Then x equals— (ffge 4B = AC , @ BAD = 30° =%
AE = AD T XTI L)

1 1
2 7° b) 10° ¢ 12-° | d)  15° ]

Two poles, 30 m and 15 m high stand upright on a ground. If their feet are 36 m apart. The distance between their
tops is— (30 . @i=e 15 1. Fiee1 751 36 2wt offS ot witez | 3w 36 vble wfia g 35 5. 23 corm 2o T @9 29-)
a) 36m(f) b) 39m(R) ¢ 15m(®) d) None (Gote==x) =

In the given figure, PO | | TM | | RS. If ZPQR="70°, ZRTM =140°, the ZQRT is equal to— (s frat oo
PO\ TM||RS. ¥ £PQOR=70°, ZRTM =140°, 5% LQRT IITT)

Q
P—5m 7 L
140°
R S
) 35° b) 30° g 25 d 20° B
When simplified equa}s (|!1+ QWW)
ol 1 S | x* - JE 1 g
n TE by B ), [ ]

(7]
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63.

64.

65.

66.

67.

68.

69.

70.

71.

A TV is offered for sale at Rs. 250.00 less successive discounts of 20% and 15%. The sale price of the TV is:
(2500.00 5= 7@t o179 @51 57 (2@s 20% = 15% @ Gt frcet Bfotom e e 2°3-)

a) 35% lessthanRs. 250.00 (250.00 5 35% ) |:|
b)  65% of Rs. 250.00 (250.00 5515 65%)

¢) 77% of Rs. 250.00 (250.00 55 77%)

d) 86% of Rs. 250.00 (250.00 G5 86%)

If2 is a solution (root) of x* + Ax +10 =0, then # equals— (I@ x* + Ax +10 = 0 GBI AN 2 2, (ST A I T3I—)
a) 2 b) 9 ) -9 d -2 []

If A={2,4,{5,6},8}, then which of the following statements is not correct? (I A ={2, 4, {5, 6}, 8} =T, (TR
(IO O 7oy 123 )

a) {56\c A b) {5,6}ed ©) (2,48 c4 d) 2,4.8¢c4 []

Three bells, toll at intervals of 36 sec., 40 sec. and 48 sec. respectively. They start ringing together at a particular time.
They next toll together after— (S5 Fa& @ %! T 36 (52, 40 (52, O 48 (52 T4 1S B¢ | @B WS F7we 51
(25! G0 AE B (0 I 77 e THIRR! ST GFeteal AfE 2)

a) O6minutes(SG) b)  12minutes(SG) ¢) 18 minutes (RfG) d) 24 minutes (IFT) |:|

Ifthe width of each of ten classes in a frequency distribution is 2.5 and the lower class boundary is 5.4. then the upper
class boundary of the highest class is— (25! (¥} S[EAIE 2 AFAT! S 2fSth! (=TT e 2.5 i (=T Sre1e
T 5.4 270 I6IZS(F BT (X4 SIeqer Soba1 1l 2'3-)

a) 30.1 b) 30 o 311 d)y 27.6 []
The fourth quadrant is the set— (S5 (FH! FEZ S (154 5o HFCHI I& 2)

a) {(x,»)|x>0and (T%)y <0} b)X ~ ¢ ¥R 3 O aifd (5§%) y > 0} ]
©)  {(x,»)x<0and (W% y>0} d) D+ € (x, 5 ¢ < 94l (wie) y < 0}

If , then x 1s—

@ Z_a+x_b+x_2=3 =7, (O0% x AAFZE)
+cC c+a a—+

a) 0 b) 1 ©) atb+c d) abc []

The quadrilateral formed by four angular bisectors of a given parallelogram is a— «bI ¥ BIRGI (FloF 7@ SF
(FPRTI(E T2l 41 5QET(H] 2'3-)

a) Square(3f®a) b) Rhombus (I%b) c)  Trapezium (GHfeR)d)  Rectangle (STe) |:|
2 l 6 . 2 l 6 l
In @’ +— = x then the value of @° +—— willbe- @ a” +— =x &7, (9T a° + —— IALS)
a 27a 3a 27a

a)  x+1 b)  x(x-1) o x(x+1) d) x(e+1)(x—1) |:|

8]
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72.

73.

74.

75.

76.

77.

78.

79.

80.

Simplify (sFeT 1) 10° —10°
Pt 105 +10° +10°
a) 90 b) 900 ¢) 9000 d)  None (&ble 7= []

When x" +1 is divided by x — 1, the remainder is— (x" +1 Fx — 1 (F© FRE SR ZI-)
a) 1 b) -1 0 0 d 2 []

How much will Rs. 25000 amount in 2 years at compound interest, if the rates for the successive years be 4 and 5
percent per year? (T3 % 391 29 4 9% 5 205 25000 5319 12 7259 71361 2 3-)

a) Rs.26600(G=F) b) Rs.27300(GF)  ¢) Rs.27100G=)  d) Rs. 28050 (5= []
If the area of two simillar triangles are equal, then they are— (3 5! 7| fagea Fifet 37l 27, (90T fage 46 23-)
a) Equilateral (57RI=) b)  Isosceles (*Tfdr2) |:|
¢) Congruent (39! %) d)  Not congruent (sl 57 757

General Science / A4i<e fqeale

Mitochondria are absent in— / S5 & MeNE—

a) Fungi/ (e I:l
b) Bacteria & blue-green algae / REERA ST GTCG I ¥tz

¢) Animal cells / &It R

d) Plant cells / Sfew =

Which of the following structures carry out similar functions in both plant and animal cells? / &7 =i 21t T (I
CRITCH IRV T 2o PR =2/ T 2

a) Cell wall / 3 <= b)  Chloroplast / Gi<’2I3 []
¢) Food vacuole / 4 &< d)  Plasama membrane / (FIRIR=el

Vehicle of heredity is the— / A*i5feq 12T (202

a) Nucleusin the cell / (F1TF (FREH b)  Protoplasm / =1 &7 |:|
c) Cytoplasam / (F/F o< d)  Plastid / 2Rzl

If ‘n’is the numerical value of a physical quantity in a system in which its unit is ‘2’ then which of the following relation is
correct. / €5l 2elleTT® AW 51 (SIRSF IR ARRIT S 7" B 9FF 0’ 2T (0T O (FICH! TTF AIF T2

a) 2 Constant | &< b)  — Constant | &< |:|
u n
c¢) nu=Constant / &<F d)  None of these / «bre vz

A particle moving with a speed 6 m/s for the first half distance of a journey and the second half distance with a speed 3
m/s. The average speed in the total journey is— / 45! IR TN@! 229 22/ i yag Sfodw 31 6 i/ (2. Bior@ o fas
wii<e 1y Sfos 3G9 3 /(2. %fo0a | TRER (911062 Tqiviers 18 &l 23—

a)  Sm/s /@) b)  45m/s{/@ o 4m/s /@) d  2misF/®@) []

191
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

A car travelling at a speed of 30 km/h is brought to a halt in a distance of 8 m by applying brakes. If the same car is
moving with a speed of 60 km/h then it can be brought at a halt with same brakes in— /@2 5f8t 30 /951 @l oifs
< Sifeet | @ el F ST 8 B T IR 27 | rFa 9ISt 60 Fhl/<51 (@Al 9if FR0e, @ @ el & e
T_Te IR #1732

a) 64m/f b) 32m/f ¢ l6m/f d)  4m/f []

A man of mass 50 kg. carries a bag of weight 40 N on his shoulder. The force with which the floor pushes up his feet will
be— / 50 il S FMZ & FF 40 8o €& B! (F91 ¢51 SR | M2 Gold ©f{e Wefdle Ners Saa 4 elfsferi 71 23

a) 882N b) 530N ¢ 30N d) 600N []

A car of mass m has an engine which can deliver power P. The minimum time in which car can be accelerated from rest
to a speed v is— / 2 9E1T ©F m W1 Bfeg1a ol P, oG %9 SRgiF #191 TRIfEe (2 @91 v 20 Ferosl 7y aifod—

mv’ mv’
) 5 b Pav? 0 2Pmy’ ) =P L]

One light year is— / @ SIS (22—
a) 946x102AU b) 1496 x10°AU ¢) 6479x10*'AU d) Noneofthese []

Which of the following is not a function of Latex tissue— / ©&< (FIC0I O [ I IS ST 2

a) Store food / AWy A% b)  Store excretory products / (I5 #wi<f &l FfF 41 |:|
¢) Helpintransportation / ?fReed dfe7@waa  d)  Provide physical strength / *Sifs& =& carcsiat

The connective tissue found in brain and spinal chord is— / ¥ SI1% FIgaeere 24! RN FeRY (22—
a)  Axon /<3 b) Dendrite/ @G5 ¢) Neuroglia/FEafm d) Al ofthem/wibRes | |

‘Origin of Species’ was published in— /Origin of Species’ # 9laell &7 2! 23 feat—

a) 1858 b) 1857 ©) 1859 d) 1959 []
Which of the following is an ecosystem? / S&18 (FICHIE 5! AR ©FF &1z 2

a) Aforest /2 b)  Apond or avillage /23531 9l I:l
¢) Anaquarium /<SRN d)  All ofthem / =IBR@ER

Which of the following shows units of distance in order of decreasing magnitude? /&1 (FICHIR YFGI GFHITE ARRIE
NS D F&rF 2

a) Centimetre, metre, kilometre, light year / (25519, 5517, 57 TS5, Scenas |:|
b) Metre, millimetre, kilometre / N5, Sfe1fsioR, et 5o

¢) Centimetre, light year, metre / (ZB0R, SR, fi5E

d) Light year, kilometre, metre, centimetre /SIsw<, fFcenfiG, N6, (2fHiGR

Which of the following is not a fundamental unit in ST unit? / 922 & e© ST (FICH! T G 72 ?
a) Ampere /9T b) Kelvin /Gt ¢) Mole /s d) Pascal /7ltF= I:l
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

1 kg of water at 60°C is mixed with 2 kg. of water at 30°C. The common temperature of the mixture will be— /60° (%3
el |3 1 fReealls ~Aiia wete 30° (23 Tew! [ 2 fRrealls i f=eetl ' | 2Nl Secss s Saes] fia 23 ?

a) 30°C /(= b) 35°C /(= c)  40°C /(= d) 50°C /cze []

The volume of CO, gas at NTP evolved when x g of CaCO, is heated is— /2.51.8.© x &% CaCO, T€ FFe1 TeofH
@RI CO, (=g BT -

a) 224xlitres /BB  b)  2.24xlitres/BBR  ¢)  0.224xlitres/BBR  d)  44.8x litres/fbiR |:|

In a period, the metallic character decreases continuously from— / 7% GBI GTEERE (IS el TR FFl AT—

a) Right to left/ il »=ia1€iitat b)  Top to bottom / &< 7| eitaT []
¢) Leftto right / AeleT =il (Aileicst d) Bottomto top / OR #[[l €T

The increassing order of reactivity of ions are— / (FOIFRIIS AfGToa AfHe TSB! TI—

a) Na' <Cu™ <Fe’ <Mg™ b)  Cu® <Na" <Fe <Mg™ I:l
¢ Mg” <Fe* <Cu*" <Na' d  Cu™ <Fe* <Mg> <Na"

The volume of a fixed mass, mass of gas at 25°C is 1 litre, at constant pressure. To what temperature (in °C) will the gas
have to be heated so that the volume is doubled? / 723 bivie 18 w1 (It (oI 25°C Teoie STes | T | (sr=eb! s
°C Te0i(a1 Ted TR ST SRS 239 S 7 @6/ 27 2

a) 596°C /@ b) 323°C/® ¢ 273°C/@ d) Noneofthem/<biszm [ |

The Fibrous protein in wool is called / Teiq =iz 51 41 & BB (a1 =2
a) amide /93T b) peptide /(?#BB®  ¢)  keratin /@=iGA d) natural fibre /2iFfeF Sz |:|

Which of the following is an organic compound? / ©&1 (FCH! B! (&1 (191 2

a) Nacl b) CaCoO, ¢ HO d CH,_O, []
1 atmospheric pressure is equal to—/ 1 Wﬁ‘ﬂﬁ?@ -

a) 101325 x 10° Nm™/ &b 2 b) 101325 x 10° daynes Cm >/ 5fi []
c) 101325 Pascals / #IcFe d) None of these / €518 7&7

Which of the following fertilizers contains more nitrogen? / S (FR& T I “AfRiem 2GS AT ?
a) NH,NO, b) (NH,),SO, ¢  NaNO, d)  (NH,)CO []

Kilowatt hour is a unit for measuring— / 72l <51 523« 2
a) Force /34 b)  Energy/*f& c) Power /%5l d) Momentum /S9! |:|

00000
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